
B-85

SE
CT

IO
N 

 B

4457, Boul. Guillaume Couture,  Levis (Qc), G6W 6M9 
Phone: 418-838-4464 / 1-800-463-6879 / Fax: 418-835-0426

www.ramp-art.ca
RBQ Licence: 8104-5759-11

Creation janvier 24 - Revision Feb 24

Sc
al

e 
: 1

:1
0

SPIDER HYBRID MODEL - SLAB FRONT

91
4

EM-498
T.PAN SCREW #14 X 1-1

2

HANDRAIL PMC-380
FM-414

4  TEK T.PAN #10 SCREW
1  ALLEN FLAT SCREW M10 X 1.50 X 30
(S.S. # 304)

POLE MOUNTING  FV-195

BUTTON STACP 1124S, SS316
GASKET STACP 1124 RBNB
1 ALLEN SCREW  M10 X 1.5 X 40
(S.S. # 304)

10 MM CLEAR TEMPERED GLASS

POST PPO-298

SHOE SA-087
MECHANICAL ANCHORS (S.S. #304)
OR EQUIVALENT (2 PER POST)

LOW RAIL PLB-366
FP-967

T.PAN SCREW #14 X 1-1
2

WASHER  14  X 1-1
4

25
 M

IN

10
70

 M
IN

.

DETAIL SA-087
VIEW 1:2

61

20

CONCRETE SLAB 200 MM & 28 MPA MIN

* ADDITIONAL CLAMP CAN BE REQUIRED DEPENDING
ON THE VALIDATED LENGHT WITH RAMP-ART

(S.S. # 304)

15
0

SP
ID
ER



B-86

SE
CT

IO
N 

 B

4457, Boul. Guillaume Couture,  Levis (Qc), G6W 6M9 
Phone: 418-838-4464 / 1-800-463-6879 / Fax: 418-835-0426

www.ramp-art.ca
RBQ Licence: 8104-5759-11

Creation janvier 24 - Revision Feb 24

Sc
al

e:
 1

:1
2

B

SECTION A-A
VIEW 1:12

DETAIL B
VIEW 1:4

AA

10 MM  TEMPERED GLASS

LOW RAIL PLB-366
FP-967

170

92

BUTTON STACP1124S,SS316

JOINT SSKCAP112GAS (2)

ALLEN SCREW M10 X 1.5 X 40
(S.S. # 304)

POLE MOUNTING FV-195

HANDRAIL PMC-380

CONCRETE SLAB

(S.S. # 304)

INTERIOR VIEW
VIEW 1:4

SPIDER HYBRID MODEL - SLAB FRONT

SP
ID
ER


